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APPLIED MATHEMATICS

frgifte o T ER) [Afream 3 : 70

Time allowed : Three Hours] [Maximum Marks : 70

e :

Note :

(ii)

(iii)

(iv)

v)

(vi)

(i) o 797 3R 8, 99 7 8 a8 wia & 3R i /|

Question No. 1 is compulsory, answer any FIVE questions from the remaining.
(ii) §F 97 & @} 4171 ) FHIR T 79 BT FHHrd |
Solve all parts of a question consecutively together.
(iii) eI J97 %1 79 78 @ JRE] Fiford |
Start each question on fresh page.
(iv) 1 STIsT & Si=) 17 @1 1Rfa 4 FAH S7aTE # AT 8
Only English version is valid in case of difference in both the languages.
1+ i ST HTIT 1A HIIT |
Find the modulus of 1 +i.
sin 750° =1 4 fAfey |
Write the value of sin 750°.

I weh T St & GREAT THEHT 81 A S8R HIH TTd i |

If the two rows of a determinant are identical, then find the value of that
determinant.

T €T 3x + 4y + 7 = 0 1 &1 forfaa |

Write the slope of the line 3x +4y + 7=0.
TEAT y2 = 8x 61 TTeTs 6t TS [ g |

Find the length of the latus rectum of the parabola y? = 8x.

. lanx
lim TW‘J{H%@EE

x—=0

lim ——
Write the value of S

(1 of 4) P.T.O.
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(vii) €S0 o x 3 ETE FH T |

Differentiate 8" * w.r.L. X.

(viii)@@:aqwfuv dx %1 g3 foRaa |

Write the formulae of by parts integral fuv dx.

(ix) Wge STl TR %I ST Y AT |

(%)

(it)

(iii)

@iv)

)

(vi)

Write the general form of linear differential equation.
e U St afe fre |
Write the definition of scalar product. (1x10)

firg (5, 5) 1 ATt T 3x -4y + 10 = 0 & T gl I HIST, |
Find the perpendicular distance of the point (5, 5) to the line 3x - 4y +10=0.

afe f(x) = = A f(tan 0) 1 AF T4 HIC |

1+

If f(x) = 1 ix = then find the value of f(tan 6).

ARy = \lx+‘\}x F AT+ 00 ?h%xz 1 9 T4 BT |

J L dx T HH TG i, |

sin? x cos® x
: 1
Find the value offT—T dx.
sin” x cos” x
ﬁma:%asinzawwmml

If tan o =% then find the value of sin 2 ..

zrfaa&m?+4?+3ﬁam4?+2?+1ﬁmw@,ﬁxﬂuﬁmm1

If vectors 1 + 43”\ +3k and 41 + 23'\ + Ak are perpendicular to each other, then find
the value of A. - (2x6)
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4, ()
(i)
5 (@)
(1)

(3 0f4) 701
g HIRT (Prove that)

cos 10 cos 30 cos 50 cos 70 =13_6

Frr S fram @ = gefteor e e ik :

x+2y+32=6,2x+4y+z=7,3x+2y+92=14

Solve the following system of equations by Cramer’s rule :

x+2y+3z2=6,2x+4y+2=7,3x+2y+92=14. (6x2)
=] 2

a2 1 1 |1 SgEHH TG HIT |
3o

Togi S
Find the inverse of the matrix[ ki) el | }
5 (A=

39 T TG T THEH T R S g (3, 4) | IO @ T 2x+ 3y +7 =0
FIEaA e |

Find the equation of a line passing through the point (3, 4) and perpendicular to
the line 2x + 3y + 7 = 0. (6x2)

34 9 1 FHfie T Hife s feeg (1, -2) 7o 4, —3) | TORAT & U1 5 T
W3 +4y-T=0WB@g |

Find the equation of a circle passing through the points (1, -2) and (4, -3) and its
centre lies on the straight line 3x + 4y -7 =0.

o0 BT 1 x = 2 TUHTA i T HIfT ;

Examine the continuity of following function at x=2:

X2 ox<d
i | 2
f(x) = ‘:3 Sx< (6x2)
'Z a2y

P.T.O.
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@ fg2l-)+ kAt I wm sl + kg T+ 2] - k% wrde et s

Hife |

A force 31 + K is passing through the point 2 3\ + 3K. Find the moment of force

with respect to the point T+ 23'\ il

(i) x*+ (sin x)* 1 x % T HTHAT HINC |

Differentiate x* + (sin x)". W.I.L. X.

o TR g hifve

Solve the following integrals.

@ J’ COs X e

cos (x + o)
/2

(i) J‘ sinxdx

sin x + cos x
0

=t araena afietr g I :

Solve the following differential equations :

(i) %’E + y tan x = sec x.

(i) (D?-5D+6)y =sin4x.

(6x2)

(6x2)

(6x2)



